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1. [8 points| The speedometer readings on a car, in miles per hour, were observed at 1-minute
intervals during an 8 minute trip and recorded in the following chart.
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Use Simpson’s Rule with n = 4 subintervals to estimate the distance traveled by the car
during this 8 minute trip. Show your work and include units in your final answer.
(speaking of units, recall that there are 60 minutes in an hour)
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2. [8 points| Consider the improper integral: / dzx. If it converges, evaluate it.

(ln z))?

If it diverges, say so and show why.

Show your work, and include the limits you compute.
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3. [10 points] A 10-ft chain weighs 25 lbs and hangs from a ceiling. Find the work done in
lifting the lower end of the chain to the ceiling so that it’s level with the upper end.

Show your work and how you set up any integrals you compute.
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4. Compute the following definite integrals. Simplify, but leave your answers in exact form.
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(b) [6 points| /1/2 arcsin(z) dx
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5. Evaluate the following indefinite integrals.
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